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function solution=bisect({fun,a b.acc)
fa=feval(fun,a);
fh=feval(fun,b);
while abs{b-a)=acc
c=(a+b)/2;
. fe=feval(fun,c);
o iffatfe<=0;
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Junction f=fun(x)
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Junction f=dfun(x)
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== [gol,it]=modifiedNewton("fun" 'dfun’, 'ddfun’,.9,.00005)
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== f=inline("x"3-2*x"2-x+2")
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==gol=fzero(f [0 1.5], le-15)
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== function z=fjx)
z = cos(xl-x;
== format long
== sol=fzero( [0 2], le-15)
sol =
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== f=inline("sinfx)- 5%x')

Inline function:
fix) = sinfx)-.5*x
== yol=fzero(f 1)
sal =
1.8954942670330958
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function [xx,it]=newton2(x,fjf n tol)
it=0;

XX=X;
fr=feval(f,xx);
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== hold
Current plot held

== ezplot('x*y=1")
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Sunction f=f1v)
x=v(1);y=v(2);
J=zeros(2,1);
[fil)=x"2+y"2-16;
f2)=x"y-1;

2 ok AT omefile (3 odySIE) dmall,

function j{=f2{v)
x=v(1);y=v(2);
f=zeros(2,2);
A1) =[x*2 y*2];
Mf2.)=[yx];

xy1=0, ¥sy?=18
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== [soll iter]=newton2({4 1]’ 12" 2,0.00003)
soll =
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== [sol2 fter]=newton2([.5 3], 1" 2 2,0.00003)
Sol2 =
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Sold =
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